3 (Sem-6) PSC M 4 (C/D)

2018

POLITICAL SCIENCE
( Major )
Paper : 6.4

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
OPTION—C
( CONTEMPORARY POLITICAL IDEOLOGIES )

1. Answer any three of the following questions :
10x3=30

wﬁm%ﬁﬁm%@i‘w:

(a) Discuss F- A. Hayek’s views on
‘spontaneous Order’.

ag. 4. T TOPE wpeppy R
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(b)

(c)

(d)

(e)

8A/860

(2)

What is patriarchy? Discuss the major
pillars of patriarchy.

frgegam & ? PeoarR 30 S8EE SCama
sl

Illustrate some of the important factors
for the rise of religious fundamentalism
in India.

SRS (M (TeRME TYFR @AW I
IR R 3= foren o

Describe the Indian Constitution as a
document of multiculturalism.

SRS R @i foar % o Rorcet
T |

Critically evaluate the salient features of
liberal feminism_

Discuss Wiy Kymlicka's views on
‘minority rights’.

( Continued )

(3)

2. Answer any three of the following : 5x3=15

oo R e fofbrR Teg forgy

(a) Briefly discuss Robert Nozick’s views on
State.

A1 R T AR 7 5 ey 2.4 |

(b) Compare and  contrast between
neo-liberal State ang welfare State.

TS B S 139 WS @
TR AT SR iz i 4 |

(c) Explain the distinction between ‘gender’
and 'sex’.

e fr S ‘a6 o3 T Nk
el 1|

(d) What is religious fundamentalism?
4Ty (e 12
(e) Evaluate e relationship  between

democracy and Mmulticulturaligm.

q@waWWWWW
47 |

8A/860 ( Turn Over )

e E—




(4) R

3. Answer the following very briefly : 2x4=8 (i) Will Kymlicka
o 2RPTRY WIS 5 T i T fpuferl
(@) Mention two features of Marxist y
feminism. (iii) Jeff Spinner-Halev
S TR 1 Cafiyy Trard 991 | % ~ATR-TETR
(b) What is neo-liberalism?
T -SHeRT R o (iv) Michael Walzer
: ElgiEiE!
(c) What is the thirq wave of feminism? g
TR SO 41y s

() Who has Propounded ‘Entitlement

(d) Mention any two minority groups in the theory of justice™

context of multicy)turalism.

1G) ?
a:; TR cormppope R e 1 R TR RSP SGOT (PIe 1557202 2 ‘
(MO =11 Trgy
90 (i John Rawls ]
& IO b
4, Choose the corre " 4
ct answer : 1x7=7 . .
2 pert Nozick l
¥7 TehI MR Bty - (il Robe |
(@ Who h i), b A |
& as authoreq the book, Liberalism,
'ommunlty, and Cyiture? i) F. A. Hayek
Liberaism, Community, and Culture o, T
RS ENC o T TRt 9 a% . 9.
; - ; el Sandel
() Charleg Taylor (iv) Micha
Ratec :
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(6)

(7))

(c0 Who has ’
Multicultyrg h:::;owd the es:ay, Is (e) The operations of ISIS are dominant in
Is Multicultyrqy; gesofar, Hognen which of the following countries?

= ralism Bad for Women =99 oo SRRT @MY s ISIS-q el
: e 2 w3 A 2 ?
) Susan Molier OKkin
XN A Gy (i) Syria
(ii) Iris Marion e fofsm
o Gl T (i) Turkey
1i]
) AIl'ly Gutnlann ﬁ
qfy Wﬁm
() G (iij) Iran
Preet Mahajan g
TR oy

(d) Who (iv) Libya
feminist thinkel}-l;e following is not a AR
O YR
; © (e R B 7= 2

Y Mary w () Who has authored the book, The Road
oll )
; Stonecraft to Serfdom?
(i) Bet A 3 The Road to Serfdom _wq smee (@A
@T%ty Frledan ma‘aii?
s
®. @, o1 L e Brec
(iv)
Kate Millett (i) John Maynard Keynes
o GRS
8A/860
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(8)
(@) F. A. Hayek
9¥. 9. e

M Ry

{g) WhO has au

tho i
Pafn'archyp red the book, Theorizing

Theorizin ;
g Pa -
. triarchy w9 2®4 (FICT I5411

( Continued )
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8A/860

(9)

OPTION—D
( WOMEN AND POLITICS IN INDIA )

Answer/Choose the correct answer/Fill in
the blank of the following : 1x7=7

woe fil APHR UeT fi/wm Tewdl IR
feraar/ M P19

(a) Difference betWween men and women is
the product of

o S A S R T
(i) biological factor
tGfdF CEME
{ii} hereditary system
TS Tl
(iti) economic €empowerment

Gl AT

(iv) culture rather than ideology

oS T ez

(b) A Vindication of the Rights of Woman was
written by

A Vindication of the Rights of Woman-3
o !
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( 10 ) (11 )

: ] (e) What is the full form of CEDAW?
winner ; SOl
HOman writer from Assam is CEDAW-3 37 F9(C51 5 2

() The UN International Decade for
Women was

T Ty TR QT SIBESS AR e wife
) Ni : i
@ Nirmay Prava Bordoloi % 19635—12'-‘13
91 Tz yobe—
@) Nirupam, Borgoh (i) 1985-1995
WWW gohain Sspe-3sde
Ll
(iv) Rity Chougy, (iii) 19952005
o iy Ry $352-300¢
i ONference was held in y5ae-ddre
TS afee
() 1995 ; .
T (g Who directed the film titled, Sandhya
©
Raag?
(i) 19gs syt Q1 B I iRwrere e 2
3¥b¢
7o (i) gantana Bordoloi
(i) 1975 sl T
i 4 d oy o
(i) 1965 e e o e
® s@@ 14 REST
Le s
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(12 ) (13 )

(i) Jahny Barua 3. Write short notes on any three of the
following AT
T 51

: worR i careen Folior So® 5 (Bl fora :
(iv) Munin Barug

(a) Chandraprava Saikiani

SEers] Al

Win 1 . =
OIS fraearg R oy i V;r;r -brxeﬂy : 2x4=8 (5) Women and development
(@) Name ty, e o R
Present S‘T’Omen representatives in the
T\ﬁﬂq @rﬁ‘:mn Cabinet. (o) Women'led environmental movement
' s aRfify e pER ;
TR 13 foy ¥ { B (1990 ARCPPT Y e L
(b) NamE :
Assam © Womep, freedom fighters from (d) Women representations in local bodies
SPT oy ErrrTEe TREN afefifiy ﬁ
TR 3oy TR s 1 fora FA [T
for . Constitutional provisions ; - e,
A of = 4. “participation of WOmen in political parties in
e men. India is MOTE symbolic rather than real
n . ;
gy, O g mRfe T power wielding.” EXplain. 10
@ Neme g, o AT Wﬁ\" TR S B
“ﬁfm o exponents of feminism. wwe] YRTOT wfEe A9 gz | <TG 4T
TR A foa
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(14 )

Or / 37

D .
r‘;v'y.ou think that the constitutional
provisions of equa] rights have been able to

bring about ¢ ; . -
gende ality’
society? r equality’ in Indian

SR wﬁm%ww@aw
WW’%meqﬁgﬁW?

(15 )

Or / 9«1

Discuss the different forms of violence
against women in India. How far is the
Domestic Violence Act of 2005 successful in

helping women to come out from violence?
5+5=10

Sws R e b @a {feq aerd e
gy cEndl 3901 Rooe vF wEa e efewdi

S 1A RETR Rl T Rt [ 7w
5. H
thiiﬁ You define statys of women? Discuss xR?
eres of digeri.- ; ]
in India. SCrimination against women .
* %
R RS 3o
mqg% & @1 ? sHoe AR [F0Em 30
ST 3y |
Or / G337
Explain  the
im 2 s
education to th, gi;)rz;-‘ri;e of imparting
1
T PR
P [Fg 1 40
the co t-h-e fole of UN i the development of
SHbons o 10
W W .
TS
BT Sfi e AT 41
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